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tel: 2ototd & Xgotd |2+ EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
So|d Xgotd FHIAIY (HEALY) 15,300,000 16,200,000 100,000
= 13,300,000
Al 2,000,000
401 AlZHIZ S 0HbI 15,300,000 15,200,000 100,000
= 13,300,000
Al 2,000,000
01 A28l 14,698,000 14,198,000 500,000
O=3ld Xlgotd HUIAE 14,698,000
s 13,300,000
Al 1,398,000
02 2l 600,000 1,000,000 A400,000
O=2d Xgotd A 600,000
03 Al 2 0HHI 2,000 2,000 0
O=2d Xgotd A 2,000
2ot (SY) |AES 202,000 230,000 /28,000
= 202,000
401 Al HIZL 01| 202,000 230,000 /28,000
= 202,000
01 AlZ8| 202,000 230,000 /28,000
O=JIotd (SF) /A2 202,000
= 202,000
=ItetE(et3Y) |AE+ 246,000 160,000 86,000
= 246,000
401 Al HIZL 201 246,000 160,000 86,000
= 246,000
01 Al&HI 246,000 160,000 86,000
O=JIotd (2t82) |FA=+ 246,000
= 246,000
Kgotd s 2=AE 370,000 840,000 A470,000
== 185,000
Al 185,000
401 AIEHIZ SR 0HYI 370,000 840,000 A470,000
< 185,000
Al 185,000
01 Al&H| 370,000 840,000 A\470,000
OXl ot FAE2=At 370,000
= 185,000
Al 185,000
old AldE J2rdEd 110,000 20,000 90,000
=S 33,000
Al 77,000
401 Al HIZ R 0HbI 110,000 20,000 90,000
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< 33,000
Al 77,000
01 A&t 110,000 20,000 90,000
OBtE AES HUOHEZ (AT DA
) 110,000
= 33,000
Al 77,000
NSL=E LM AL 20,000 40,000 220,000
== 20,000
401 AlEHIZ 201 20,000 40,000 /20,000
= 20,000
01 Al&H| 20,000 40,000 /20,000
ODINIE 2HZIHE AL 20,000
& 20,000
Aot RAE+ 1,579,020 2,426,129 847,109
= 54,930
= 35,000
< 2,045
Al 1,487,045
aotd FAI2 (X\_é ) 200,000 200,000 0
401 AIE2HIX S THYI 200,000 200,000
01 Al&HI 198,000 198,000
Oaotd RA2 198,000
03 Al =2 0HHI 2,000 2,000 0
20t KA+ 2,000
S AGHE HUIAIG (D EHAIY) 1,000,000 2,000,000 1,000,000
401 AIEHIZ SR OHYI 1,000,000 2,000,000 1,000,000
01 Al&HI 999,000 1,999,000 1,000,000
O=4tAotd HHIAHY 999,000
3 A& 20HHI 1,000 1,000 0
O=ttAotd FHIAE 1,000
ZAAl AGHE HHISEHIE (M EALY) 250,000 0 250,000
401 AIEHIKL =] 250,000 250,000
01 Al&H| 250,000 250,000
OZ Al 2ot ZHISE A= 250,000
QIR AGHE ADEHSCIAIAE 70,000 0 70,000
[ 35,000
Al 35,000
401 AIEHIZ SR 0HYI 70,000 0 70,000
= 35,000
Al 35,000
01 Al&H| 70,000 0 70,000
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&t Aot |2 (CH9: &S1)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
O EAGIE ADEHSZCIAAE 70,000
= 35,000
Al 35,000
2024. 7. 8. ~ 19. S=UIHNH HE Aot Mol=E+7 = 59,020 0 59,020
A
= 54,930
& 2,045
Al 2,045
401 A& B 20HY| 59,020 0 59,020
= 54,930
T 2,045
Al 2,045
01 Al&HI 59,020 0 59,020
02024.7.8.~19. SL2L|H0 [HE ASHE o=
T 3A 59,020
= 54,930
= 2,045
Al 2,045
HMAIE 2 ot 2| 4,040,800 7,490,300 23,449,500
= 1,207,000
= 490,420
Al 2,343,380
THoHAIE A CHEI 1,504,400 1,707,200 A202,800
201 Let2| 1,172,100 1,111,500 60,600
01 AtR2telt] 348,600 323,800 24,800
O THAId 2] AIR2E & HARFE S 2,900
Ol S2UHEAIAE S22/l 55,000
OXIZIIEEASI| sX2eltl 13,000
Otf==8IZ& MI|etMa2e| Xt &F 82 O
3 (6044 250,000
OB MI|orE22 |t =4+Z (5
o) 12,000
Otl=8IZX ASAE 22U =2 4,200
OZLZHEEY 2 20188 =22 (114
) 11,500
02 B2=2gH| 823,500 787,700 35,800
OMHETHAIE SALZ(CCTV, HHEAAM S
IHEZ) 91,000
OMLHIEAIE SXI22(HI(CCTV, 2LH
S) 30,000
O&EXE A2l 2,500
OMUYTHAIE I IQE(+EIE, 24
NEX E) 550,000
Oti=8ZZ MDA FIIHA 2,000
OYUTHAIEE SXI228I(O1H, &I S) 55,000
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ol EMAIEd =S otd 2 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
02 2 S HES243 9,000 0 9,000
OosgdMe g5 9,000
307 elzto| & 6,200 6,300 A100
02 2B YAIHE A 6,200 6,300 A100
OZ Al NG ES M 23 6,200
KAl MBS S 52,800 92,000 A\39,200
201 et 3| 52,000 91,000 39,000
01 AtR2te|Hl 16,200 54,000 /38,800
OX =N S 4,000
OMETNS e HERESTE 7,200
SUHP sty QHHEXIE M% 4,000
02 S3=gHl 35,000 35,000 0
OXJIIBEAAYE MISURSS 35,000
03 A= 1,800 2,000 A200
OZ3=ofl & X& WXSe 25t 24 A 1,800
202 04| 800 1,000 A200
01 2LHoIH 800 1,000 A200
OXMt =N S 800
A X AHH (SEES SZ A FHIAY) 395,000 395,000
401 AIZHIZL S OHE 395,000 395,000
01 Al&H| 395,000 395,000
OFEHE SZ AKX FHIAE (Z2EH =8
=8 395,000
THOHRIE XIS HBI(DIF K7 SZ AKX ZHIAY) 234,000 1,100,000 866,000
[ 117,000
= 46,800
Al 70,200
401 AIEHIX R0 234,000 1,100,000 /866,000
[ 117,000
= 46,800
Al 70,200
01 Al&H| 233,000 1,098,000 865,000
ODIEX T SEAA SHIAI 233,000
= 117,000
& 46,800
Al 69,200
03 A2 THYI 1,000 2,000 1,000
ODIEX T SEAA SHIAI 1,000
HHIEXNAFH(AXSX T STAK SUAEXSA 60,000 0 60,000
HHIAY)
[ 30,000
= 12,000
Al 18,000
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401 Al HIZL 2018 60,000 60,000
= 30,000
== 12,000
Al 18,000
01 Al&HI 59,000 59,000
O&XEXT SEAHA FUIAI 59,000
= 30,000
=S 12,000
Al 17,000
03 Al& ST 1,000 1,000
OURIEXIT BB BHIAI 1,000
TS XIS HHI (P T STAX SV F 50,000 50,000
HIAM)
= 25,000
< 10,000
Al 15,000
401 Al HIZL 01| 50,000 50,000
= 25,000
== 10,000
Al 15,000
01 Al&HI 49,000 49,000
Og=X7 SEA SHIA 49,000
= 25,000
=S 10,000
Al 14,000
03 Al 20HHI 1,000 1,000
Og=X7 SEAK SHIA 1,000
THH AR XA FHEI(LHAIKI 7 SB AKX SIS F 70,000 70,000
HIAMY)
= 35,000
< 14,000
Al 21,000
401 Al HIZL 201 70,000 70,000
s 35,000
== 14,000
Al 21,000
01 Al&HI 69,000 69,000
OUAKI= SZ ALK EHIALS 69,000
= 35,000
= 14,000
Al 20,000
03 Al 20HHI 1,000 1,000
OUWAKIZ SZ ALK EHIALS 1,000
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SA - ZE . BR(8) - HRAR - BES of v e HIDE2
oA EXI A HH (BRI RATHHLASNLKI T H 1,401,000 0 1,401,000
HIAFS)
= 1,000,000
[ 400,000
Al 1,000
401 Al HIZL 201 1,401,000 0 1,401,000
s 1,000,000
== 400,000
Al 1,000
01 Al&HI 1,400,000 0 1,400,000
OZZAX7 XA Mo AL X7 ZHIAL
A(AELE i S4 2 UA) 1,400,000
s 1,000,000
s 400,000
03 A2 THYI 1,000 0 1,000
OZEHXF NHATHHAE ML X HBIA
2 A2 =20l 1,000
SHYOS Mol ASHE X7 AZI=SEHEIAS 200,000 200,000
401 AIEHIZ SR OHYI 200,000 200,000
01 Al&HI 199,000 199,000
Ol H9S Mol AZINLXIF SIS ZUIA
& 199,000
03 Al 2 CHHI 1,000 0 1,000
O 9SS Mol ALK SIS TZHIAL
of 1,000
=3AKK BH 33,000 33,000
401 Al HIZ S OHbI 33,000 33,000
01 A28l 33,000 33,000
O=dAK B3 33,000
SO9EH dLI(00H) BBRA 19,400 19,400 0
< 5,820
Al 13,580
201 er23 | 19,400 19,400 0
= 5,820
Al 13,580
2 s5=34l 19,400 19,400 0
O=RCs1dd agol(ood) 83 X 19,400
= 5,820
Al 13,580
ARl THEE Ol & TS 260,487 269,250 A\8,763
Arel THER Ol 223,487 263,850 /40,363
201 223 162,600 215,500 /52,900
01 At22t2lt] 153,600 215,500 261,900
OAl2IT 2t 23| 3,600
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S TWoll & T ol
SRl ARITHE ol TS (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OUXEIE c=fSAdotdae| SUS
=Al2c 150,000
02 S3=gHl 9,000 0 9,000
OUXEl|e —2EAldotdate| Sal| 9,000
202 04| 4,000 5,000 1,000
01 =LHOHI 4,000 5,000 21,000
OAFRITHERH H2RFX (Y B2 S) 4,000
307 glztol & 26,300 22,750 3,550
04 QIZHHAIAIRH 2 X 26,300 22,750 3,550
OBMA| ABAH HLTHE 22012 &
g FAlal 8,700
ONHSSENKE 2SASU MUl A2
Jleg2d o3 1,100
ORMIBOFI| =X2ASAUHE F22E X 9,600
02025 S ASALH SHUF A 3,000
ONl4al cls420e & JIg4 3,900
308 AXIMS0IA 30,587 20,600 9,987
07 MR SHHIRE = 9,987 0 9,987
OCHMFAHZS TIITHH Ol At 9,987
13 SI[2SOHe & EAS A 20,600 20,600 0
0472 ASS(LH0IBAL S) HIIAL
ArEEA 20,600
AT THS 37,000 5,400 31,600
201 er23 | 5,000 5,400 2400
01 At2teltl 5,000 5,400 A400
ONHHEUH2E 2 JHISU S 5,000
301 EtE2 N = 32,000 32,000
14 0Bt 2 a3 32,000 32,000
Ozt ulah==2! X&= 32,000
ArATHOH Oflgf & ot 2| 8,247,900 2,989,100 5,258,800
[ 5,500,000
= 2,008,000
Al 739,900
ZZ UL erd2e] 87,000 87,000 0
201 ger= 3| 7,000 7,000
02 S3=gHl 7,000 7,000
OFGMTAE 882 S 2,000
OFEMZAIE KA2eld 5,000
401 Al HIZL 01| 80,000 80,000
01 Al&H| 80,000 80,000
OZSEMTAIE EXIAY 80,000
Kol == 456,900 102,100 354,800
= 8,000
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Rl RrATHOH Olg & ord2te| EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 448,900
201 er23y| 3,600 4,500 2900
01 AtR2t2|HI 3,600 4,500 A900
OXAMt=SHRE RFH 3,600
202 04| 1,300 1,600 A300
01 =LHOLI 1,300 1,600 A300
O =X 2= 1,300
206 M=l 16,000 20,000 24,000
01 MHZH| 16,000 20,000 24,000
Ot 7 16,000
302 O|=H Mol 2at= 20,000 20,000
02 QI SRS S22 = 20,000 20,000
OAt=AIE MHXIES XS 20,000
307 21201 & 16,000 16,000 0
< 8,000
Al 8,000
06 2= 16,000 16,000 0
OSoll2E&= 16,000
S 8,000
Al 8,000
401 AIEHIX SO 400,000 40,000 360,000
01 Al&H| 400,000 40,000 360,000
OXS Ml AHUE & S=S574I 400,000
AT Saoll d ALY 3,502,000 2,800,000 702,000
[ 2,500,000
= 1,000,000
Al 2,000
401 AIEHIX R0 3,502,000 2,800,000 702,000
[ 2,500,000
= 1,000,000
Al 2,000
01 Al&H| 3,500,000 2,798,000 702,000
OFZX 7 Saofl H2A I 3,500,000
= 2,500,000
< 1,000,000
03 A& S THYI 2,000 2,000 0
O7X7 Saoff M2 IHIALY 2,000
2T LEFEMZALE XA 2,601,000 0 2,601,000
= 2,000,000
=S 600,000
Al 1,000
401 Al HIZ R 0HbI 2,601,000 0 2,601,000
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SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 2,000,000
=S 600,000
Al 1,000
01 Al 2,600,000 0 2,600,000
OL2sS7 L=RENSAE EXAE 2,600,000
[ 2,000,000
= 600,000
03 Al 20HHI 1,000 0 1,000
OUz2SA+ L=RENSALE EXAE 1,000
ASA 7 Saoff & JHIAY 1,401,000 0 1,401,000
= 1,000,000
& 400,000
Al 1,000
401 AIZHIZ SO 1,401,000 0 1,401,000
= 1,000,000
< 400,000
Al 1,000
01 Al&HI 1,400,000 0 1,400,000
OUESX 7 Saoff & SeSIHIAY 1,400,000
s 1,000,000
s 400,000
03 AIZ2THYI 1,000 0 1,000
OUEX 7 Sooff ded SO 1,000
2025 B2 AAIE XA 180,000 0 180,000
402 2I2F X201 & 180,000 180,000
01 RIENGSASE X (XM THR) 180,000 180,000
020258 H==HXAIE KA 180,000
LI23S Mol XIS Ol Ar 20,000 0 20,000
401 AlEHIZL S0 20,000 20,000
01 Al&H| 20,000 20,000
OLI23= Mol /IEXS LA 20,000
ANEE otdZel 528,000 199,000 329,000
ANEE otE 2] 108,000 109,000 1,000
201 er23| 8,000 9,000 21,000
01 AtR2t2|HI 8,000 9,000 21,000
OdsHdEd Hd+E 8,000
401 Al HIZ R 0HbI 100,000 100,000
01 AlZ8| 100,000 100,000
OMoi?E+= HHlAI 100,000
ANES AEIEA & HEEH 420,000 90,000 330,000
401 AlEHIZL S0 420,000 90,000 330,000
01 Al&H| 420,000 90,000 330,000
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SA: AT
M NADHLHES A CRY =3
s ordst Ot E2XE R]X EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
2SS HEAIS 251,000 271,000 220,000
401 Al HIZL 201 251,000 271,000 220,000
01 Al&HI 250,000 270,000 /20,000
O2xd FHAXNY = HESA 200,000
OgZUY Jt2(2ehHSE HE & 2ASSA 50,000
03 AlESTHYI 1,000 1,000 0
OJI2E HEAY Al S 1,000
2otS XA 307,000 361,000 54,000
206 M=Hl 136,000 170,000 234,000
01 MHZHI 136,000 170,000 /34,000
2ots EXlg S+ Y 72,000
2ots EXE 82)| € FEAM S 7Y 64,000
401 AlEHIKL =] 171,000 191,000 /20,000
01 AlZ2H| 170,000 190,000 /20,000
O1AS SHS 22S EXISAHEIA ) 50,000
O3 SHE BE XIS AHE ) 50,000
OMLLZY SIS 205 X SA 70,000
03 Al 2 CHYI 1,000 1,000 0
20otS ZXIAE A2 20 1,000
2SS WX 22 LD M At 900,000 900,000
401 AlZHIZ S OHbI 900,000 900,000
01 A28l 900,000 900,000
OJt=2E WX 22 LD RHMSAHTAS) 300,000
OJ2S OUXl 22 LD WHSAH2AS) 300,000
OJZE ORI =2 LED WHISAHIES) 300,000
o SIIE flet sEIIBAE 25 12,831,100 13,590,000 AT758,900
== 1,226,000
Al 11,605,100
SHECZHIIAIS 2,377,000 4,790,000 A2,413,000
SHECZEIZAG (M4 2,305,000 3,005,000 A700,000
401 Al HIZL S 0HYI 2,305,000 3,005,000 700,000
01 Al&HI 2,300,000 3,000,000 A700,000
ONUZE LHIREZ HESAH(AAIL 23
) 200,000
O=2k 2k 2832 S22 EESAM 200,000
OLZUZE LHREZ HESAHERA) 1,100,000
O=7 Uk 165 (SHOS) =2 EESA 200,000
O3l 2k 212,2132 S22 E I SA 200,000
O=7 2l 200& (MECH]) E2E A TAL 200,000
O=AM 2lE 24S(ES012) T2 ELEIA 200,000
03 AlESTHYI 5,000 5,000 0
Os0HEELZ SXLIME S 5,000




S AT
BR: M2 08 s SIIBAE 15
Hel: SHEZZEZHALY (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
SHEZZEIZ A (ST 72,000 1,200,000 A1,128,000
401 Al HIZL 201 72,000 1,200,000 A1,128,000
01 Al&HI 70,000 1,200,000 1,130,000
ONE 2l 2025 (REH) 2SI EIA 70,000
03 AIZSTHYI 2,000 0 2,000
OsSHEEZZ SHZIAME S 2,000
SENY & SIIEAE &5 2,801,000 3,153,000 /352,000
< 18,000
Al 2,783,000
SHUTHEl S0 60,000 60,000 0
& 18,000
Al 42,000
401 Al HIZL 2018 60,000 60,000 0
= 18,000
Al 42,000
01 Al&H| 60,000 60,000 0
OINSFHAXNSE AIE SSHL AL 60,000
= 18,000
Al 42,000
=TI (IS EHZ) (HEALY) 2,000,000 2,000,000 0
403 AXIEHHSAH=201H 2,000,000 2,000,000
02 S 2S0ItH et =& 2 €A ] 2,000,000 2,000,000
OJIHSHE A2 SHEIHAIE (HEALY) 2,000,000
J|ZMEoITet(MESHFH|) (MEAIY) 581,000 887,000 A306,000
401 Al HIZL 201 581,000 887,000 A306,000
01 Al&H| 579,000 885,000 /306,000
O=4td 2S0ts SHEXSA 15,000
Os4td ZUtlls s2 MEESA 50,000
Ot 240E =2 ZESA 11,000
Oz =302 MEgtz 2ECIE 2
SAt 30,000
O S3tll= sti+== ZUISA 10,000
O3dd =l sti+== JUISA 5,900
O3l HUMtE =2 2ECIE ZHSA 26,000
Ozl FAstdit= sti+2 JUISA 4,100
Ogud otElls AN EXISA 25,000
Ol W=ERlts T2 MEZSA 25,000
Oogud s¢tlls ==& JHISA 20,000
OAM=8 20l =22 EXISAt 65,000
OA==8 R&E0ts =22 E£XISA 6,000
OUofH =2 =2 &AXI3At 40,000
ONEH OIS =22 XA 25,000




S AT
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9l SENY U SAI(BAIA 2B (el mel)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Oditd 2tslls =AY s+=23At 20,000
Oditd =4l ==& EXISAt 25,000
O8uH ¢tHglte R+ EXISA 20,000
OdutH 0gllE stil+2 EXISA 6,000
OouzEd Z=0ls 52 28 SAt 80,000
OSAE HMllE s+2 EXISA 25,000
OSAHH ddalls stie2 SA 25,000
OSAMH ciits stii+=2Z2 SAH 20,000
03 Al 20HHI 2,000 2,000 0
OJI=MeEZEH § ALK 2,000
MESATH AL (S7) 84,500 105,500 £21,000
401 Al HIZL 201 84,500 105,500 221,000
01 Al&H| 84,000 105,000 /21,000
O=+s S40l= =2 MESA 44,000
OSHE Uil SZEE SAt 40,000
03 AlE S THYI 500 500 0
O=s78 deaZ A 500
MBS A AHIAIG (018 S) 75,500 100,500 /25,000
401 Al HIZL 201 75,500 100,500 /25,000
01 Al&H| 75,000 100,000 /25,000
Ollgs gl =2 ZXISA 15,000
Olld=S NEDNtS Ot=22 Z2& SA 25,000
Ollds s40ts s=2 €1 A 35,000
03 Al 20HHI 500 500 0
Ollds d==38HIAe 500
SYIIEANEE FA2+22] 7,653,100 5,647,000 2,006,100
= 1,208,000
Al 6,445,100
SIIBtAIE HHISA 3,100,000 2,766,000 334,000
403 AXIEHMSAH=0ld 3,100,000 2,766,000 334,000
02 SI12ASOITH A=A P E A I 3,100,000 2,766,000 334,000
OsIIBAIE BHISAHSHESAREIZ
) 2,900,000
Ollds sYIIEAIE FHIBAHSHESA
ze|ne) 200,000
AR EFR=AANL (SENL) 1,625,900 1,573,000 52,900
401 Al HIZL 201 1,625,900 1,573,000 52,900
01 Al&H| 1,622,900 1,570,000 52,900
Osti+=2 bl & EL(15H88S) 200,000
O=gIIBAIE 212 s EIHHI(SZ) 160,000
O=gIIBAIE 21g s SO (AT ) 160,000
O=78 Eelil= =2 MESA 46,000
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SA AL
M A BDI2 9I8H SDIUAlE 7S
oSl SeDIBAIEE RXIBSRe (el mel)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 808,000
Al 202,000
03 Al 2 0HHI 1,000 1,000 0
FclAlE JHES S AERUHI 1,000
A LH IS ALY (R EHALY) 500,000 0 500,000
s 400,000
Al 100,000
403 AXIEHHSAH=201H 500,000 0 500,000
< 400,000
Al 100,000
02 SI12S0ItH et =& 2 €A I 500,000 0 500,000
O A2 Hi==IH& AL 500,000
S 400,000
Al 100,000
P& BRI (D EAL) 15,000 15,000
403 AXIEHMSA=0ld 15,000 15,000
02 SISOt =2 A P E A I 15,000 15,000
O S1X+ HPEZNELIAL (I RFX
&) 15,000
SotE 22| BiIiE A 500,000 500,000
401 A2 HIRL 201 500,000 500,000
01 Al&H| 500,000 500,000
Od 4t &2l == A 500,000
=2lAlE RXl2el 901,200 757,000 144,200
101 @124H| 145,200 111,000 34,200
M IRINZZENSES 145,200 111,000 34,200
Od==gae| 22y 145,200
201 er2 3| 105,000 85,000 20,000
01 AtR2t2|HI 25,000 25,000 0
O==clAlE FX&e| =8 25,000
2 S52g4l 80,000 60,000 20,000
Og=d & 28 S dJIes=s 80,000
401 AIEHIZL S0 651,000 561,000 90,000
01 Al&H| 650,000 560,000 90,000
Og=g ald & +52H 72 50,000
Ode8 & =82y R 100,000
OXM==Xl A2 =Xl22 200,000
OXZH 02 SHESA 300,000
03 Al 20HHI 1,000 1,000 0
O==clAlE FX&cl S AE=20UHI 1,000
ANEHN HEZAl 2= 830,640 454,640 376,000
NEHHB Al 7= 830,640 454,640 376,000
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H & 0l & AHS B Ml A

SH: FAH™
Bz 1d o 2o
SERESSPE: (Shol: &2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
FEHAE 22,644,821 20,704,068 1,940,753
= 16,675,895
Jl 183,000
= 2,308,230
Al 3,477,6%6
TE 24 & =29 4,686,401 3,937,924 748,477
= 804,295
) 183,000
= 1,069,530
Al 2,629,576
FEONE 1,153,931 780,100 373,831
= 251,025
Jl 183,000
= 100,000
Al 619,906
s0HE BEFHIAMS(HEAL) 228,400 239,600 211,200
== 28,400
Al 200,000
402 2I2F X201 & 228,400 239,600 A11,200
[ 28,400
Al 200,000
02 QI T2 AL EE (01X THE) 228,400 239,600 211,200
O=s0E BIZEHIAIS (HEALS) 228,400
= 28,400
Al 200,000
S 3 2otRA ALY 150,000 25,000 125,000
= 45,000
Al 105,000
402 2I2F X201 & 150,000 25,000 125,000
== 45,000
Al 105,000
02 RIINEASEZ(0IETHR) 150,000 25,000 125,000
OBIE A S|2UFSA AFS 150,000
< 45,000
Al 105,000
A gy A 36,000 36,000
402 2I2F X201 & 36,000 36,000
01 QI X2 AL E A (KEHITH) 36,000 36,000
Ogxl ey Z4l A HIS 36,000
HYOIMI BIE FHIAY 245,000 0 245,000
= 171,000
Al 74,000
401 A2 HIZL R 0HbI 245,000 0 245,000




2A:

Mp: Zel g o 2
cHels FEONE (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 171,000
Al 74,000
01 Al&H| 245,000 0 245,000
OHHNI BI& HHIAY 245,000
= 171,000
Al 74,000
NASE 8 c22EAE 366,000 285,000 81,000
Il 183,000
Al 183,000
402 2I2F X201 & 366,000 285,000 81,000
Jl 183,000
Al 183,000
03 2IZHRAETALHHI 366,000 285,000 81,000
OMASE 08 cI22EAHY 366,000
Jl 183,000
Al 183,000
ZOHQI==EN JHZE A 76,000 76,000 0
= 38,000
& 26,600
Al 11,400
402 QI2F X201 & 76,000 76,000 0
= 38,000
< 26,600
Al 11,400
02 QI T2 AL EE (01X THE) 76,000 76,000 0
OHOHRI = JHZ At 76,000
= 38,000
s 26,600
Al 11,400
SE FHAAS FHMHLAE 52,531 0 52,531
= 42,025
Al 10,506
402 QI”F X201 & 52,531 0 52,531
= 42,025
Al 10,506
02 QI X2 AL E R (0IETHE) 52,531 0 52,531
Os& FASYAS FHNEAE 52,531
= 42,025
Al 10,506
FHeHY X2 2,082,340 1,185,240 897,100
= 563,270
= 190,030
Al 1,339,040
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MEE
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200,000
200,000
200,000

720,000
720,000

720,000

14,040

14,040

14,040

Ofl &F2H

955,540
477,770

i

Iy
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02 S3=gHl 60,000 54,000 6,000
OAlUiHA RollsZd 35| 30,000
OAlLIHA S2E MII2(Ead, 28X
S)) 30,000
401 AlZHIZ S0 702,000 636,700 65,300
01 Al&H| 700,000 634,700 65,300
OAIUHA s28 AlEF4E8 LR 10,000
OAs2d thedd ZHAE RAES 20,000
OAlLIHA s2E A4 & Xl 150,000
OAILIHA S2& AI2E |XIE=(EIH
of) 100,000
OHASLE HINES RAE=(EaE,
2 S) 20,000
OAILHB A B LED SoHsEE EX8 &
Xl 100,000
Ootst HAOIES st AIEXIE 300,000
03 Al 2 CHHI 2,000 2,000 0
OUsSuUSAIE= Md & JHl 25 S 2,000
JIEt NHELSHMESL(EHASENS 32700 X 40,000 21,000 19,000
AEA) (B EEAL)
s 20,000
Al 20,000
401 Al HIZL R 0HHI 40,000 21,000 19,000
[ 20,000
Al 20,000
01 Al&HI 40,000 21,000 19,000
OHAs2dd eAd 2ZHX £X 40,000
= 20,000
Al 20,000
=2 NSA SSRLA 222 109,977 189,440 ANT9,463
101 @12A4H| 55,397 122,140 66,743
04 JIZtN22 XS 2+ 55,397 122,140 N6B, 743
OB 2el 22X 2+ 44,813
-J=2s 22,533
- =X 3,906
- i 902
-52=d 3,005
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A nSHEL
M e #lEt Clean nSetd X4
CHolr DEQFAIM EHE Y DEXH A (SHol: )
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 990,000
Al 992,000
401 AlEHIZL S0 1,982,000 2,014,000 A32,000
= 990,000
Al 992,000
01 Al&H| 1,980,000 2,012,000 A32,000
O3EFIE A 1,980,000
= 990,000
Al 990,000
03 Al 20HHI 2,000 2,000 0
OSgFxd =g A 2,000
o2lolE2Es+9 |XZel 199,600 350,000 150,400
401 AlEHIZL S0 199,600 350,000 A150,400
01 Al&H| 199,000 349,400 /150,400
Ooelol25+% RXl2ell 99,000
OO0EI0IoHN FatFE QIERH(CCTV) PEA 100,000
03 Al S THYI 600 600 0
O0gl0I25+9 FA&cHl & AIE=2UI 600
HE0I2S2A HHAIS (HEALY) 1,561,000 387,000 1,174,000
[ 780,000
Al 781,000
401 AlEHIZL S0 1,561,000 387,000 1,174,000
= 780,000
Al 781,000
01 Al&H| 1,560,000 386,000 1,174,000
O0el0I2=2+Y ALY 620,000
= 310,000
Al 310,000
OAZE JIHE STHSAIAE EXIAE 940,000
== 470,000
Al 470,000
03 Al 20HHI 1,000 1,000 0
ONE0I2a7Y A AIE20] 1,000
LOIES A% FAl2c 30,500 30,500 0
401 AIEHIX SO 30,500 30,500
01 Al&H| 30,000 30,000
LoIESAY RAEs 30,000
03 AlE S THYI 500 500 0
Okl2a3Y 72+ AIE20UH| 500
ITS Alid= &4 2 FHI 2,469,010 2,484,400 215,390
201 =3 138,010 318,400 180,390
2 S5=2g4l 138,010 318,400 /180,390
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A nSHEL
M e #lEt Clean NSt X4
el Uisus 29 s =4 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OAlLY sOHEHA HEXE= 1,882,334
= 941,167
Al 941,167
OAILY sOEHA THEXIES(FIHAAMME
) 9,014,666
402 2I2FX=201H 791,670 1,240,000 A448,330
01 IR SASE X (RHMITHR) 791,670 1,240,000 448,330
OAILHHA THHIXF X123 791,670
AMUSHEHA EXH & 5,496,000 4,701,100 794,900
= 1,649,000
Al 3,847,000
307 el2tol & 5,496,000 4,701,100 794,900
= 1,649,000
Al 3,847,000
B 2=gHEXS 5,496,000 4,701,100 794,900
OsHEHA HIld X 5,496,000
[ 1,649,000
Al 3,847,000
SIS Raus At = 1,454,733 2,534,801 1,080,068
101 @124H| 31,246 0 31,246
M ORIMZZ2NSE S 31,246 0 31,246
O LSSt RS HREX JIZHN2=2
A 2= 31,246
201 eer23y| 222,287 160,101 62,186
01 AtR2t2|HI 111,287 71,166 40,121
OZ1ssd RaUs MEHE § 7Y 21,287
OZAl 24 1S SHE 228 89 90,000
2 S5=2g4l 111,000 88,935 22,065
OsLsstd R uE AAE CIOIH 01
= 111,000
301 EtE N = 1,201,200 2,374,700 A1,173,500
4Bt 2 a3 1,201,200 2,374,700 A1,173,500
OsIsSsd fHusS wsHl A& 1,201,200
AUA WSS ZAISY 70,000 70,000 0
207 AR 70,000 70,000
01 A S| 70,000 70,000
OAILIHA BXIed BEEXAL & 2R3
H 2 A 70,000
Hswns =28X 28,800 17,200 11,600
201 er23 | 16,800 5,200 11,600
01 At2teltl 16,800 5,200 11,600
Olsus 2d A3 2EH| 8,800
Oosus =24l 8,000
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A nSHEL
g e #llEt Clean nSetd X4
ol HEusS AdlA e (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 460,000
Al 460,000
402 QIF X201 & 1,840,000 2,852,000 A1,012,000
= 920,000
== 460,000
Al 460,000
02 QI TH2AILEE (01X THE) 1,840,000 2,852,000 A1,012,000
OXMatA =Y 1,840,000
= 920,000
=S 460,000
Al 460,000
WS 0lsHY SXAG (MAHA 29) 365,000 0 365,000
< 109,500
Al 255,500
307 glztol & 365,000 0 365,000
= 109,500
Al 255,500
09 2+ AHAELS 365,000 0 365,000
ONM&HA 234l X 365,000
= 109,500
Al 255,500
SguS+H TyEX 153,000 138,000 15,000
= 76,500
= 38,250
Al 38,250
405 KHoHFSHI 163,000 138,000 15,000
= 76,500
= 38,250
Al 38,250
01 ML ESFSHI 153,000 138,000 15,000
OSgusSsH £ 24 153,000
= 76,500
& 38,250
Al 38,250
SEusS+H 2484 N 2,316,000 1,734,500 581,500
) 792,400
Al 1,523,600
307 gl2to| & 2,316,000 1,734,500 581,500
Il 792,400
Al 1,523,600
05 git?(& = 2,316,000 1,734,500 581,500
OSgusSs+t 2gH| 1,828,000
7l 548,400




A nSHEL
g e #llEt Clean nSetd X4
ol HEusS AdlA e (CHol: &S1)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 1,279,600
OSguE=H 2 nsat 23 488,000
Jl 244,000
Al 244,000
Az SEusS+t 284 X 313,500 627,000 A313,500
= 313,500
307 2120l & 313,500 627,000 A313,500
= 313,500
05 212t =S 313,500 627,000 A313,500
OAlZ SEuS=+H 244l 313,500
= 313,500
NathA s2& AlIEHA At 120,000 90,000 30,000
= 36,000
Al 84,000
401 A& HIX R0 120,000 90,000 30,000
= 36,000
Al 84,000
01 A28l 120,000 90,000 30,000
OXNaHA SsHE AIEHE A 120,000
== 36,000
Al 84,000
GAXS A EI01E HHIALY 62,400 0 62,400
= 18,720
Al 43,680
402 2IF X201 & 62,400 0 62,400
= 18,720
Al 43,680
02 QI X2 AL E R (0IETHE) 62,400 0 62,400
02025 (A XSKE B01E FHIALE 62,400
= 18,720
Al 43,680
2HSATHHA, SAl) AHI2HE 2 X 636,675 635,470 1,205
< 174,978
Al 461,697
203 HR=&H] 3,000 3,000
03 A=A R =AH] 3,000 3,000
OUSuSAHIA 2= 3,000
301 EtE N = 10,000 10,000 0
4Bt 2 a3 10,000 0 10,000
OuSHASAHAL =4l K& 10,000
307 @120l & 623,675 622,470 1,205
== 174,978




A nSHEL
g e #llEt Clean nSetd X4
ol HEusS AdlA e (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 448,697
02 QA AAEE X 38,300 66,720 A28,420
ON=RPHEHAHE S WSHHHA XIH 1,700
OZAZHEAl SAES XIE 6.800
Ozt ZYE2E II=Hl X2 18,000
OMLUEAl SAHES XNI&H 3,600
OusSAtl 0171 &2 & M= 8,200
09 2FHHEXS 585,375 565,750 29,625
OsHE S10d SSEAl XIE 57,375
== 38,250
Al 19,125
OHAIRS Her2 XA 455,760
= 136,728
Al 319,032
OHAIRZ M2 KR ALY (FIFXAEMH
) 72,240
SHCEAl 2 EAME 318,000 318,000 0
[ 25,146
Al 292,854
307 glztol & 318,000 318,000 0
= 25,146
Al 292,854
09 2s-gAHAELES 318,000 318,000 0
OHAPIEEZD| S48 XA 83,820
= 25,146
Al 58,674
OHAPIESHZD] SAE X (FIOAHMH
) 192,180
OMEts SEZEdH 2gdl A& 42,000
BA2YEE2E| AIAE 2= 15,341 14,775 566
308 AHXIEMSOIH 15,341 14,775 566
18 SIS0t oA AS A 15,341 14,775 566
OHAI2Y HE ZACIAIAE 2HASH 15,341
UEusHl S=SXHA(K-THA) 220,000 0 220,000
= 110,000
Al 110,000
308 AtAIEHMSOIE 220,000 0 220,000
= 110,000
Al 110,000
13 S [2S0tHet 34 A AS A 220,000 0 220,000
OlisnsHl 2K (K-THA) 220,000
= 110,000
Al 110,000
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2H: DERHD
OHESID H

I 1ot1) Belgt TAIEE
Hel YEAIAE A= 29 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OSERHHE F2SUALY SN2
S 180,000
02 S3=gHl 25,600 20,000 5,600
OAOIEAIE SEEUS Stieks 25,600
202 04| 2,400 3,000 A600
01 =LHOHI 2,400 3,000 2600
Ogad=2H =Uoitl 2,400
206 MH=HI 48,000 60,000 212,000
01 MHZH| 48,000 60,000 A12,000
OS2 NHE 2 CCIVEEAIZE HHIS +
OH 48,000
307 el2to| & 980,000 960,000 20,000
05 212t =S 980,000 960,000 20,000
OSE2HMHE CCTV 2MESH 980,000
401 AIEHIZL SR THY] 560,000 630,000 70,000
01 Al&HI 560,000 630,000 A70,000
OSEHUE HIFZI(AS2IX) RO4&
Xl 180,000
OSS2NHE CCVESAAYE 2 AH w
H OHEX 100,000
OSe2NHE XNse HdE82AMALY 2=
At 280,000
ABl MBOIMEAl A4 2,042,000 1,797,000 245,000
= 57,000
Al 1,985,000
2HE CCIV €1 € 29 2,042,000 1,797,000 245,000
= 57,000
Al 1,985,000
gdHE CTV €1 € 29 2,042,000 1,547,000 495,000
== 57,000
Al 1,985,000
201 =3 690,000 595,000 95,000
2 S22l 690,000 595,000 95,000
Ogds IV ME3d & AMIIR3 690,000
401 Al HIZL 01| 1,352,000 952,000 400,000
= 57,000
Al 1,295,000
01 Al&H| 1,350,000 950,000 400,000
OXre s elA] CCTVEXR] 250,000
OXIs8(CIs) CCTvE R 360,000
s 57,000
Al 303,000
ogds CCv £X 300,000
OMEHMT Al ADLE = CCIVAXI 240,000
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SN EXFED
M EXFg=E2
Ehelr XIDtE AR EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 12,701
Al 16,222
M ORIMZZ2NSE S 28,923 27,820 1,103
OHNESAIXIE ZAF & Hats o129 28,923
= 12,701
Al 16,222
201 Zet=3h] 141,500 136,768 5,732
= 54,963
Al 86,537
01 AtR2tc|Hl 141,500 135,768 5,732
ONESAIRIL E2=HIHE MH 9,240
= 4,527
Al 4,713
OMESAIRI =& S20HAHI 3,600
= 1,800
Al 1,800
OMNEZAIXIt BE==8 128,660
= 48,636
Al 80,024
202 04| 7,000 9,000 22,000
= 2,320
Al 4,680
01 2LHoIH 7,000 9,000 /2,000
OMESAIXNIL S XIS 7,000
= 2,320
Al 4,680
HeFEs 2t = 27,200 27,200 0
201 ger=3| 27,200 27,200
01 At 2|l 27,200 27,200
OgEgs 2i2d R 27,200
INESES & 153,400 94,370 59,030
= 24,000
=S 8,000
Al 121,400
XE2R|(EX) 4,000 3,600 400
= 4,000
101 @124H| 4,000 3,600 400
= 4,000
M ORINZZ2NSE S 4,000 3,600 400
OXl & 2el 4,000
= 4,000
K= 22 (XA 20,000 20,000 0




A EXNEE
M EXFg=E2
(s BPNESET (1 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
207 ARl 20,000 20,000
02 MAHHZHI 20,000 20,000
OXNAESZNUT Mite BBR= 20,000
ANEZFEI|IEE 2 65,800 65,800 0
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